| Efficiency vs Dxy |
> 05

dx

S
©
I
)]
[

......................................................................

o
N
|

efficiency v

e T e e

o
[
[

R
0.2

e e
e o e e

T S T s e
I*Iillllllllllllll

QL_ ....... — e

Ratio

510 15 20
TP dxy (cm)

—=— DQM_origmal_stepZ_ttbar-phasel-newgeom
ffici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom

0.5 —+— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

377 SN NN RS S S —

dz

a‘ E : : : : :
§ OAf

(8] r : : : . .
£ 0.35 Froenreree Frorreneenes frorereees A

o - : : : : :
R A B S S S
1SS SRS SIS M — —

0.2F SRR FYPT Y SUOANT SR -
T :**Jt |
0.15 : & :

o
RS SU  — 1 -----------

lllx;.;a¢+xlll$ g
: 1l

TIYYYYY :
! Hmﬂ LT ...........

s i
0.6 £ AL e et + -----------

30 20 10 0 10 20 30
TP dz (cm)

Ratio

0.8




	Contents
	Page 1


